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—~Kcos(@)-Ksin(@)=1 —> —-Ksin(f)=1 —> K=-1

i =—e cos(t + g)
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Transient state

t<0 S RLC ‘SLQ)L’.O
t20>( 2Q 1H 2Q b s 35
YL 1 51 ol
i 5 oligS Jlai! i
+
1 V
1V 1F —— 1V ° i (07)=0
Vc(0+):O
(50 oy Sl + (pgee Olg = A5 Olgx s’ +2as+w; =0
2Q 1H
2L 2x1
LV 1F —— , 11
0 = = = a)o :1
LC 1x1
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Transient state

P RLC 6L®)|M

a=1 w, =1 o=, S=—at o’ -]

Sl =—a Sl =-1

SZ =—0 SZ :—1

i=e “[Kt+K,] i=e ' [Kt+K,] o9 lg
i=e ' [Kt+K,]+K, L cle=

()=0 —> K;=0
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Transient state

t>0 S+ RLC s ,luw
i=e ' [Kt+K,]
: + + dV —t —t
1,L(07)=0 v(0")=0 E=K1e —e [Kit+K,]
i(07)=0 : v (07)=" i(0)=0 ——> Vv(0")=Ri(0")=0 ve(07)=0
|
| :
N 1(0" di(0") v, (07) 1
| w0 V() dt g dt L 1
K, =0 :
di(0*
: Elt ):Kl_[O+K2] 7 K,-K,=1
|




Transient state

| =te
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S RLC ‘SLQ)LM
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Transient state

t—> o0
\ $ilee RLC bl
roLO)=-1A ' 3l JLait o3
20 4H 1MeF——y Vc(07)=2V 20 Y oigS Jlai!l il
B B V(o) =0
—l 1 / 2 2 N
azzRC zzxzx}/ :4 0!>a)0 Slz—a— o _a)o :_a_ﬂn 31:_4_ 16_4
16
w(f:i = L =4 W, =2 Sz=—05+\/052—a)§=—a+,8n S, =—4+/16-4
L ax M

S, = —7.46 S, = 054 V= Kle—7.46t n Kze—o.54t n K3 %
62
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Transient state

V= Kle—7.46t + Kze—0.54t + K3 . 6}'9’0 RLC ‘SL“)L’-O
i, (07)=-1A 20 4H UBF——y
v (07) =2V ) i (0)+i, (0°)+i.(0*)=0
Ve (0) =0
vi0") =2V —— iR(O+)=V(g ) =§:1A I, (07)=-1A ic(0+):—1—(—1)=OA
iC (O+) _ C dVC (O+) 5 dVC (O"‘) _ iC (O"‘) _ O ﬂ _ —746 Kle—7,46t . 0.54Kze—0.54t

dt dt C dt

%(O*) = —7.46K,—-0.54K, =0




Transient state

V= Kle—7.46t + Kze—0.54t + K3

Ve (o2) =0 K, =0
Ve (0%) =2V K, +K, =2
%(W):o ~7.46K, —0.54K, =0

v=-0.15e""*" 4+ 2,156

K, =2.15

K, =-0.15
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s3lso RLC bl






